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ENGLISH – 40 

(Grammar-20) 

 

1) Tick the correct option to complete the following sentences:-                                            1×8 = 8 

  i) The collective noun to denote „a group of cows‟ is – 

              a) Crowd                     b)Bevy                       c) Hive                         d) Herd      

 ii) The feminine gender of „Drone‟ is  

              a) Bitch                      b) Vixen                      c) Bee                          d) Filly 

iii) The words „Each other‟ is example of – 

              a) Indefinite             b) Distributive            c) Reciprocal   Adjective      d) None  

iv) Select the  appropriate Modal Auxiliary to fill the  blank – 

                     “He __________________come  here daily.” 

 

              a) used to                 b)  can                      c) would                         d) might 

v)  The interjection to be placed in the blank space is:- 

             “_______________ ! He is no more.‟  

 

            a) Bravo!                    b) Alas!                      c) Ohh!                       d) Fie! 

vi)  “She will have reached Siliguri by then.” is an example of – 

            a) Future perfect                                        b) Past perfect       

            c) Future Indefinite                                   d) Future continuous tense 

vii) The sentence „May Heaven help you!‟ is  a/an – 

            a) Assertive              b) Imperative                c) Optative              d) Exclamatory 

viii) The sentence „Soldiers, March on‟  is:- 

            a) Guessing              b) Requesting               c) Commanding           d)  Asking  

2) Fill in the blanks with correct answers as stated .               1×4=4 

i) „Keep luggage _____________your own  risk .‟( put correct preposition).                                                             

ii) „I go to school daily‟. The underlined word is an_______________adverb?  

      „________________________________________‟ 

iii) „He came ___________________ late.‟ (Put correct conjunction in the blank) 
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iv) „He is   _____________our honourable guest.‟ (Put correct article in the blank) 

3. Do as directed of the followings:                 2×2=4 

  i) „The girls are solving mathematics.‟(Rewrite with self Pronoun)                                                                                             

Ans:-____________________________________________________________________ 

 ii) „Is he tired of  walking?‟ (Turn into Assertive  sentence)                                                               

Ans:-_____________________________________________________________________ 

iii) „Work out the sum.‟ ( Rewrite in Request Sentence)                                                                       

Ans:-_____________________________________________________________________ 

iii) Punctuate the  sentence   “ hurrah India has won the world cup”                                                                                         

Ans:-______________________________________________________________________ 

iv) Give an example of Negative Interrogative sentence .                                                                                           

Ans:-______________________________________________________________________ 

                                                                 (Comprehension-10) 

4. Read the  passage given below and answer the questions which follw:- 

“Around 60 red Pandas were counted in the last census in the hills in 2012, it is learnt . The count 

based on direct sighing and scat sample analysis was 27 and 38 Pandas in the Singalila Park, 

respectively. The count was done under  the director of the Padmaja Naidu Himalayan Zoolozical Park  

in Darjeeling (PNHZP) said by Rajendra Jakhar.”  

A. Tick the correct alternative to complete the sentences :                                                       1×4=4 

i) „The Panda census was done in‟-- 

              a) 2011                           b) 2012                   c)2017                            d) 2020 

ii) „38 Pandas were counted in‟-- 

            a) Neora Valley              b) Singalila Park            c) Zoolozical Park            d) Darjeeling 

iii) „Rajendra Jakhar was ________________of  PNHZP‟  

              a) Forest Guard              b)  Director                 c) Police                     d) Chairman  

iv) „Number of Red Panda was  ________________?‟  

              a) around sixty              b) sixty              c) about sixty                     d) None 

B. Fill in the blanks with the  information from the passage :                                                  1×2=2 
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i) Singalila Park was counted as of ______________________________________________ 

ii)  PNHZP  stands for ________________________________________________________ 

C.  Answer the following  questions :                                                                                          2×2=4 

i) How was count done ? 

Ans:-____________________________________________________________________________ 

_________________________________________________________________________________ 

ii) What was the result of count in Singalila Park? 

Ans:-____________________________________________________________________________ 

_________________________________________________________________________________ 

(Spoken & Writing Expression-10)                                                                                                 

5. Tick the correct alternative to complete the sentences :                                                        1×4=4 

A. i) In reply to one‟s „good morning‟ you will say – 

         a) Good morning  you too!                             b) A very good morning  you ! 

        c) Good morning!                                          d) Morning !           

ii) How would you „request someone for anything‟ ? 

       a) Please help me                                         b)Would you help me please ?     

       c) Could you please ?                                  d) May you help me ? 

iii) Coming late to school , how  would you beg to class teacher ? 

       a) I beg your pardon please.                         b) Sorry ! I am late.  

       c) I beg your pardon for late sir.                  d) Please pardon me sir. 

iv) „Have a good day!‟ is wished ____________. 

         a) In the morning.                                        b) At noon . 

        c) In the afternoon.                                        d) At Night.           

B. Complete the sentences with the correct answers:                                                                 1×2=2 

i) ________________  is used to make request to someone . 

ii) _________________ is used to make polite expression . 

C) Answer the followings  in full sentence:                                                                                 2×2=4 
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 i) Suppose you choose a shirt in a shop . How would you ask its cost ? 

Ans:-_________________________________________________________________ 

ii) Your friend invited you on his birthday and you cannot go . How would you refuse it ? 

Ans:-________________________________________________________________ 

 

 

GENERAL SCIENCE - 20 

A) Tick the correct answers:-                                                                                                1x6=6 

   i) One compound element is - 

            a) Cupper [   ]                 b) Gold [   ]                 c) Diamond [   ]              d) Limestone [   ] 

   ii) Granite forms after transformation of – 

            a) Marble [   ]                 b) Niss  [   ]                 c) Slate [   ]                      d) Lime stone [   ] 

   iii) Black diamond is – 

            a) Gold [   ]                     b) Coal [   ]                  c) Copper [   ]                 d) Mica [   ] 

   iv) Fungi is – 

           a) Autotroph [   ]            b) Parasite [   ]               c) Saprophyte  [   ]          d) Symbiotic [   ] 

   v) Largest animal in the world is - 

            a) Tiger [   ]                    b) Blue wheal [   ]         c) Giraffe [   ]                 d) Hippopotamus [   ] 

B) Answer in one or two words:                                                                                                   1x6=6                                                                                

   i) Which type of waste jute Bag is ? 

   Ans:- 

   ii) Which type of element air is ? 

   Ans:- 

   iii) Main ore of Iron  is ---- 

   Ans:- 
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   iv) What is the  scientific name of human being ? 

   Ans:- 

   v) Name two gymnojpermic plants –  

   Ans:- 

   vi) Write main component of Natural Gas – 

   Ans:- 

C) Answer the following questions :-                                                                                            2x4=8 

   i) What do you mean by alloy ? 

   Ans:- 

   ii) Write the name two snakes which give birth . 

   Ans:- 

   iii) What is biodiversity? 

   Ans:- 

 

   iv) What is fly ash ?  

   Ans:- 

 

 

 

MATHEMATICS - 40 

A) Tick the correct answer :                                                                                                1x14=14 

   i) How many straight line can be drawn through two points ? 

                a) 1                         b) 3                         c) 25                           d) many  
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   ii) Amit is x years old now . What was his age 10 years before ? 

               a) (x -10) years        b) (x+10) years          c) 10 years             d) ( 𝑥 × 10) years  

   iii) The greatest prime factor of 35 is –  

               a) 1                        b) 3                         c) 5                               d) 7  

   iv) 21, 33, 57, and 102 are divisible by ________ 

               a) 3                         b) 4                           c) 5                             d) 6  

   v) The straight line , joining two points on circumference, passing through the origin is called –  

                a) Radius            b) diameter               c) chord                      d) None of these  

   vi) F,G,O,R – these letters  if arranged to form a meaningful word will belong to the group of – 

               a) City                b) Animal                   c) Vegetable              d) Person  

   vii) Subtract  29.375 from the sum of 85.75 and 5.9 the result – 

                a) 62.275            b) 63.275                     c) 64.275                   d) 65.275  

   viii) Find the value of 3+3× 3 (4+3) 

               a) 42                     b) 45                          c) 66                            d)75  

   ix) Rahit can type 28 words in a minute. How many words will he type in 5.5minutes?   

                a)154                  b)157                          c)159                           d)162  

   x) A bucket contains 5lt 120ml water. How many mugs of 40ml capacity will be filled up with the    

       water ? 

               a)122                 b)130                           c)118                           d)128  

   xi) The common factor of  88 and 1331 is - 

               a) 2                   b) 8                              c)11                            d)22  

   xii)  How many triangles are there in the figure ? 

 

 

 

              a) 1                       b) 2                          c) 3                                d) 4  
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   xiii) The sum of two numbers is – 12 . One number is 6. Find the other number . 

             a) 6                       b) - 6                          c) 12                              d) -18   

   xiv) Favourite Books x                           

 

 

 

  

            How many students like all of the three types  of books  ? 

              a) 1                      b) 2                         c) 3                             d) 4    

B) Answer the following questions .                                                                                            2x7=14   

   i) What are the factors of 120 ? 

   Ans:- 

   ii) What is the  measurement of angle between two hands of a clock have it is – 

          a) 3 O‟clock : __________________________________________ 

          b) 12 O‟ clock : ________________________________________ 

   iii) Write in words : 9087671 . 

   Ans:- 

   iv) Find out the missing numbers in the factor tree : 

 

 

                                                                 

  

 

 

   v) Simplify : 678 – (-760) – (654) = ? 

 

xx 

x 

x 

xx 

x 

x 
xx 

x 

Fiction Biography 

Mystery 

 

1092 

2 
546 

182 

 
? 

? 

? 

? 

91 

x = 1 student 
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   vi) Find the product : 824 × 10001 = ? 

 

 

   vii) Arrange in ascending order :  -24, -28, -29, -25, -30 

 

 

C) Answer the following questions :-                                                                                        3×4=12 

   i) There are 3,00,000 tablets in a box weight of each tablet  20 mili gram . Express total weight of     

      the tablets  in kilogram and gram . 

 

 

 

 

   ii) What is the difference between the sum of  digits of greatest and smallest three digit numbers? 

 

 

 

 

   iii) A factory produces 151 chocolates in a month. How much time will be required to produce 1359   

       chocolates ? 
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   iv)  Fill the table . 

 

 

 

 

 

 

 

 

 

 

 

 

For Rough Use 

 

 

  

 

 

 

 

  

  

 

 

 

 

    

Quadrilateral 

        Opposite side 

Parallel Equal 

Parallelogram 

Rectangle 

Rhombus  

Square 

Yes 

Yes 

Yes 

 

All Side 

Equal 

No 

Equal 

No 

  No 

Perpendicular 

To each other 

No 

    No 

Yes 

 

    Yes 

    Yes 

       Two diagonals  


